


CHAPTER

13

IND AS 103: BUSINESS COMBINATIONS

Question 1

An entity acquires an equipment and a patent in exchange for ¥ 1,000 crore cash and land. The fair value of
the land is T 400 crore and its carrying value is ¥ 100 crore. Fair values of the equipment and patent are
estimated to be ¢ 500 crore and ¥ 1,000 crore, respectively. The equipment and patent relate to a product that
has just recently been commercialised. The market for this product is still developing.

Assume the entity incurred no transaction costs. For ease of convenience, the tax consequences on the gain
have been ignored. How should the transaction be accounted for?

(Study Material)
Answer

As per paragraph 2(b) of Ind AS 103, the standard does not apply to “the acquisition of an asset or a group of
assets that does not constitute a business. In such cases the acquirer shall identify and recognise the
individual identifiable assets acquired (including those assets that meet the definition of, and recognition
criteria for, intangible assets in Ind AS 38, Intangible Assets) and liabilities assumed. The cost of the group
shall be allocated to the individual identifiable assets and liabilities on the basis of their relative fair values at
the date of purchase. Such a transaction or event does not give rise to goodwill”. In the given case, the

acquisition of equipment and patent does not represent acquisition of a business as equipment and patent
relate to a product that has just recently been commercialised.

The cost of the asset acquisition is determined based on the fair value of the assets given, unless the fair
value of the assets received is more reliably determinable. In the given case, the fair value measurement of
the land appears more reliable than the fair value estimate of the equipment and patent. Thus, the entity
should record the acquisition of the equipment and patent as ¥ 1,400 crore (the total fair value of the
consideration transferred).

Thus, the fair value of the consideration given, i.e., ¥ 1,400 crore is allocated to the individual assets acquired

based on their relative estimated fair values. The entity should record a gain of ¥ 300 crore for the difference
between the fair value and carrying value of the land.

The equipment is recorded at its relative fair value (( ¥ 500X 1,500) x T 1,400 = ¥ 467 crore). The patent is
recorded at its relative fair value ((Z 1,000 /% 1,500) x ¥ 1,400 = ¥ 933 Crore). :

Question 2

Entity A holds 20% interest in Entity B. Subsequently Entity A, further acquires 50% share in Entity B by
paying ¥ 300 Crores.

The fair value of assets acquired and Liabilities assumed are as follows:

Building - %1000 Crores
Cash and Cash Equivalent - 200 Crores
Financial Liabilities - 800 Crores
DTL -3 150 crores

Fair value of Entity B is ¥ 400 Crores and Fair value of NCl is ¥ 120 Crores (400 x 30%)
Fair value of Entity A’s previously held interest is ¥ 80 Crores (400 x 20%)
Entity A needs to determine whether acquisition is an asset acquisition as per concentration test.

(Study Material)
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Answer

(i) Fair value of consideration transferred (including fair value of non-controlling interest and fair vajye of
previously interest held) = 300 + 120 + 80 = ¥ 500 Crores

(i) Fair value of liability assumed (excluding deferred tax) — ¥ 800 crores
(i) Cash and cash equivalent — X 200 crores.
Fair value of gross assets acquired - ¥ 1,100 Crores

In the above scenario, substantially all fair value of gross assets acquired is concentrated in g single
identifiable asset i.e. building. Hence it should be asset acquisition. (1,000/1,100 = 91% of value of gross
assets is concentrated into single identifiable asset i.e. building). A Judgement is required to conclude on the
word substantially as the same is not defined in the standard.

Question 3

Company X is a liquor manufacturer and has traded for a number of years. The company produces a wide
variety of liquor and employs a workforce of machine operators, testers, and other operational, marketing and

administrative staff. It owns and operates a factory, warehouse, machinery and holds raw material inventory
and finished products.

On 1st January, 20X1, Company Y pays USD 80 million to acquire 100% of the ordinary voting shares of
Company X. No other type of shares has been issued by the Company X. On the same day, the four main
executive directors of the Company Y take on the same roles in the Company X. Is it business?

(Study Material)
Answer

In this case, it is clear that the Company X is a business. It operates a trade with a variety of assets that are
used by its employees in a number of related activities. These assets and activities are necessarily integrated
in order to create and sell the company’s products. As per definition the above acquisition includes an inputs
(including four main executive directors of Company X) and thus it can be concluded as the significant
process acquired along with the other inputs.

Thus, Company Y obtains control on 1st January, 20X1 by acquiring 100% of the voting rights.
Question 4

Company D is a development stage entity that has not started revenue-generating operations. The workforce
consists mainly of research engineers who are developing a new technology that has a pending patent
application. Negotiations to license this technology to a number of customers are at an advanced stage.
Company D requires additional funding to complete development work and commence planned commercial
production.

The value of the identifiable net assets in Company D is ¥ 750 million. Company A pays ¥ 600 million in
exchange for 60% of the equity of Company D (a controlling interest). Is it business?

(Study Material)
Answer

Although Company D is not yet earning revenues (an example of ‘outputs’) there are a number of indicators

that it has a sufficiently integrated set of activities and assets that are capable of being managed to produce a
return for investors. In particular, Company D:

o employs specialist engineers developing the know-how and design specifications of the technology.
° is pursuing a viable plan to complete the development work and commence production.
¢ has identified and will be able to access customers willing to buy the outputs.

In addition, Company A has paid a premium (or goodwill) for its 60% interest. In the absence of evidence to
the contrary, Company D is presumed to be a business.

Question 5

Company A acquires 100% of the equity and voting rights of Company P, a subsidiary of a property
investment group. Company P owns three investment properties. The properties are single-tenant industrial
warehouses subject to long-term leases. The leases oblige Company P to provide basic maintenance and
security services, which have been outsourced to third party contractors. The administration of Company P's

leases was carried out by an employee of its former parent company on a part-time basis but this individual
does not transfer to the new owner. Is it business?

(Study Material
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Answer

In most cases, an asset or group of assets and liabilities that are being capable of generating revenues,
combined with all or many of the activities necessary to earn those revenues, would constitute a business.
However, investment properly is a specific case in which earning a return for investors is a defining
characteristic of the asset. Accordingly, revenue generation and activities that are specific and ancillary to an
investment property and its tenancy agreements should therefore be given a lower ‘weighting’ in assessing
whether the acquiree is a business.

Further process (i.e. Basic maintenance, security services and administration) is not critical to the ability to
continue producing outputs. Also process (i.e. Basic maintenance, security services and administration) is not
unique and it can be replaced easily without significant cost.

In our view the purchase of investment property with tenants and services that are purely ancillary to the
property and its tenancy agreements should generally be accounted for as an asset purchase.

Question 6

Company A acquires 100% of the equity and voting rights of Company Q, which owns three investment
properties. The properties are multi-tenant residential condominiums subject to short- term rental agreements
that oblige Company Q to provide substantial maintenance and security services, which are outsourced with
specialist providers. Company Q has five employees who deal directly with the tenants and with the
outsourced contractors to resolve any non-routine security or maintenance requirements. These employees
are involved in a variety of lease management tasks (e.g. identification and selection of tenants; lease
negotiation and rent reviews) and marketing activities to maximise the quality of tenants and the rental
income. |s it business?

(Study Material)
Answer
In this case, Company Q consists of a group of revenue-generating assets, together with employees and
activities that clearly go beyond activities ancillary to the properties and their tenancy agreements.
Further process (i.e. identification and selection of tenants; lease negotiation and rent reviews) is critical to
the ability to continue producing outputs (i.e. in terms to maximise quality of tenants and the rental income).
The assets and activities are clearly integrated so Company Q is considered a business.
Question 7
Company S is a manufacturer of a wide range of products. The company’s payroll and accounting system is-
managed as a separate cost centre, supporting all the operating segments and the head office functions.
Company A agrees to acquire the trade, assets, liabilities and workforce of the operating segments of
Company S but does not acquire the payroll and accounting cost centre or any head office functions.
Company A is a competitor of Company S. Is it business?

(Study Material)
Answer
In this case, the activities and assets within the operating segments are capable of being managed as a
business and so Company A accounts for the acquisition as a business combination. The payroll, accounting
cost centre and administrative head office functions are typically not used to create outputs and so are
generally not considered an essential element in assessing whether an integrated set of activities and assets
is a business or not.
Question 8
Company A is a property development company with a number of subsidiary companies, each of which holds
a single development. After completion of the development, Company A sells its equity investment because
the applicable tax rate is lower than that applicable to the sale of the underlying property.
Company A is planning to start the development of a large new retail complex. Rather than incorporating a
new company, Company A acquires the entire share capital of a ‘shell' company. Is it business?

(Study Material)
Answer

The shell company does not contain an integrated set of activities and assets and so does not constitute a
business. Consequently, Company A should account for the purchase of the shell company in the same way
as the incorporation of a new subsidiary. In the consolidated financial statements, any costs incurred will be
accounted for in accordance with their nature and applicable Ind AS. No goodwill is recognised.
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3 2in drugs. The Company’s has a production plant that has
i=tory =porovzis. Howsver, the Company has not earned any revenue so far and does

(Study Material)

The definfion of business requires existence of inputs and processes. In this case, the skilled workforce,
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strategic and operational processes constitutes the inputs and
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When the said inputs and processes ars appli

zpplied as an integrated set, the Company A will be capable of
producing outputs; the fact that the Company A currently does not have revenue is not relevant to the
anzlysts of the definition of business under Ind

AS 103. Basis this and presuming that Company A would
have been able 1o oblzin access to customers that will purchase the outputs, the present case can be said to
constitute 2 business as per Ind AS 103.

Question 10

Modiiying the above Question, if Company A had revenue contracts and a sales force, such that Company B

acquires 2/l the inputs and processes other than the sales force, then whether the definition of the business is
met in accordance with Ind AS 1037

(Study Material)
Answer

Though the sales force has not been taken over, however, if the missing inputs (i.e.. sales force) can be
easily replicated or obtained by the market participant to generate output, it may be concluded that Company
A has acquired business. Further, if Company B is also into similar line of business, then the existing sales
force of the Company B may also be relevant to mitigate the missing input. As such, the definition of business
is met in accordance with Ind AS 103.

Question 11

Company P Ltd., a2 manufacturer of textile products, acquires 40,000 equity shares of Company X (a
manufacturer of complementary products) out of 1,00,000 shares in issue. As part of the same agreement,
the Company P purchases an option to acquire an additional 25,000 shares. The cption is exercisable at any
time in the next 12 months. The exercise price includes a small premium to the market price at the transaction
date.

After the above transaction. the shareholdings of Company P’s two other original shareholders are 35,000
and 25.000. Each of these shareholders also has currently exercisable options to acquire 2,000 additional
shares. Assess whether control is acquired by Company P.

(Study Material)
Answer

In assessing whether it has obtained control over Company X, Company P should consider not only the
40,000 shares it owns but also its option to acquire another 25,000 shares (a so-called potential voting right).

In this assessment, the specific terms and conditions of the option agreement and other factors are
considered as follows:

« the options are currently exercisable and there are no other required conditions before such options can
be exercised

if exercised, these options would increase Company P's ownership to a controlling interest of over 50%
before considering other shareholders’ potential voting rights (65,000 shares out of a total of 1,25,000
shares)

although other shareholders also have potential voting rights, if all options are exercised Company P will
still own a majority (65,000 shares out of 1,29,000 shares)

the premium included in the exercise price makes the options out-of-the-money. However, the fact that
the premium is small and the options could confer majority ownership indicates that the potential voting
rights have economic substance.

By considc-_zring all the a;bove_factors, Company P concludes that with the acquisition of the 40,000 shares
together with the potential voting rights, it has obtained control of Company X.
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Question 12 . ap. 13 ¢ Ind AS-103: Business Combinations

hareha imited and Zeera Limited a re
distribution costs. The business combination is carrie?d c?gtt

that issues 100 shares to Veera Limited shareholders

and 50 sh imi .

AUmber o?r;?;r% Sze;gg ;I?;fd Sf}argholdgrs In exchange for the transfer of the shares in those entities. The

company’s sharehold ere qtlve_falr values of the entities before the combination. Also respective

Determi aers get the voting rights in Meera Limited based on their respective shareholdings.
stermine the acquirer by applying the principles of Ind AS 103 ‘Business Combinations’

0 join forces to benefit from lower delivery and
by setting up a new entity called Meera Limited

Answer (Study Material)

ﬁlse paecr [lJJéiirra 315 of Ind AS 103, in a bysiness combination effected primarily by exchanging equity interests,
commq I er ISIl USU?IIy the entity 'thgt Issues its equity interests. However, in some business combinations,
; or; y called ‘reverse acquisitions’, the issuing entity is the acquiree. Other pertinent facts and
circumstances s_»ha_ll also be considered in identifying the acquirer in a business combination effected by
exchanging equity interests, including:
The relative voting rights in the combined entity after the business combination - The acquirer is usually the
comb!nlng entity whose owners as a group retain or receive the largest portion of the voting rights in the
combined entity.
Based on _above mentioned para, acquirer shall be the either of the combining entities (i.e. Veera Limited or
Zeera Limited) whose owners as a Group retain or receive the largest portion of the voting rights in the
combined entity.
Hence in the above scenario Veera Limited shareholder gets 67% Share [(100/150) x100] and Zeera Limited
shareholder gets 33.33% share in Meera Limited. Hence Veera Limited is acquirer as per the principles of Ind
AS 103.
Question 13

ABC Ltd. incorporated a company Super Ltd. to acquire 100% shares of another entity Focus Ltd. (and
therefore to obtain control of the Focus Ltd.). To fund the purchase, Super Ltd. acquired a loan from XYZ
Bank at commercial interest rates. The loan funds are used by Super Ltd. to acquire entire voting shares of
Focus Ltd. at fair value in an orderly transaction. Post the acquisition, Super Ltd. has the ability to elect or
appoint or to remove a majority of the members of the governing body of the Focus Ltd. and also Super Ltd.’s
management is in a power where it will be able to dominate the management of the Focus Ltd. Can Super
Ltd. be identified as the acquirer in this business combination?

(Study Material)

Answer .
Paragraph 6 of Ind AS 103 states that for each business combination, one of the combining entities shall be

identified as the acquirer.
While paragraph 7 states that the guidance in Ind AS 110’shall be useq to identify thr? acquirer that is the
entity that obtains control of another entity called the acquiree. If a business combination has occurred but
applying the guidance in Ind AS 110 does not clearly indicate \fvhlch qf the c_ombmlng entmgs is the acquirer,
the factors in paragraphs B14-B18 of Ind AS 103 shall be considered in making that determination.
Further, paragraph B15 provides that, in a business corr.lbinatio.n effected primarily by faxchanging e'quity
interests, the acquirer is usually the entity that issues its equity interests. However, in some business
combinations, commonly called ‘reverse acquisitiong’, 'the issuing qnt:ty is the acquiree. Ot.her.pertlnent facts
and circumstances shall also be considered in identifying the acquirer in a business combination effected by
exchanging equity interests, including: . . o .
(a) The relative voting rights in the combined entity after ?he busmgss combmatlon:' The acquirer is
usually the combining entity whose owners as a group retain or receive the Iarge_st portion of the votl-ng
rights in the combined entity. In determining which group of owners retains or receives the largest portion
of the voting rights, an entity shall considgf the existence of any unusual or special voting arrangements
and options, warrants or convertible securities. , _— i sty Hf no oter ownar of
i large minority voting interest in the combin i T
© l’?gear?;g:;e;::gu:f; owﬂers has aysignificant voting interest: The acquirer is usually the compmtlgg
entity whose single owner or organised group of owners holds the largest minority voting interest in the

combined entity.
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On 1st April, 20X2, POH Licl. aceudrod the romaiing 70% of 217 [te), for cash 7 20,000 crore, The follo'//ing

additional information Is relovant at that dato; o
i . M

l {‘( n (/70{6) |

. S - PR S ST S T e S ‘g

Fair value of the 30% Intorest alroady ownod 9,000
20,000

Fair value of XYZ's idontifiable not assols - | -
How should such businoss combination be aceoountod for?

(Gtudy Iateriz)

Answer

Paragraph 42 of Ind AS 103 provides that in z1 business combinstion acnicyed in s12ge8, the acguirer shal
remeasure its previously hold equity intorsst in thies seguins /)
the resulting gain or loss, if any, in statement of proft and loss o oner comprehensive income,
appropriate. In prior reporting periods, the acquirer 1My have recognized changes in the value of fts equi
interest in the acquires in othor comprehensive income, if a0, e amaount that wzs recognised in other
comprehensive income shall bo recognised on the same basis 55 would be required it the zoquirer had
disposed directly of the proviously held equity interest,

Applying the above, POR Ltd. records the following entry in ite consolidated financia! statements:

’ v P il N 3
¢ at ite soauisttion-date f5ir yziue 2nd recognise

)
Y

=X
N~

XA
N

(7 in crore)
Debit Credit

Identifiable net assets of XYZ Ltd. Dr. 20,000

Goodwill (W.N.1) Dr. 4,000

Foreign currency translation reserve Dr, 100

PPE revaluation reserve Dr, 50
To Cash 25,000
To Investment in associate -XYZ Lid. 8,850
To Retained earnings (W.N.2) 50
To Gain on previously held interest in XYZ recognised in Profit or loss
(W.N.3) 250
(To recognise acquisition of XYZ Ltd.)

Working Notes:

1, Calculation of Goodwill

% in crore
Cash consideration 25,000
Add: Fair value of previously held equity interest in XYZ Ltd. 9.000
Total consideration 34,000
Less: Fair value of identifiable net assets acquired (30.000)
Goodwill 4,000
rore in Other

5 The credit to retained earnings represents the reversal of the unrealized gain of 50 ¢
Comprehensive Income related to the revaluation of property, plant and equipment. In acc
Ind AS 16, this amount is not reclassified to profit or loss.

ordance with

3, The gain on the previously held equity interest in XYZ Ltd. is calculated as follows:X
e o el o di Z in crore
Fair Value of 30% interest in XYZ Ltd. at 1st April, 20X2 9,000
Carrying amount of interest in XYZ Ltd. at 1st April, 20X2 (8.850)
150
Unrealised gain previously recognised in OCI ___._192
e diob. Loatd inbneant in YVZ | td raraanised in orofit or loss 250




